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ST. JOSEPH’S COLLEGE (AUTONOMOUS), BANGALORE-27

BSc MICROECONOMICS- II SEMESTER

SEMESTER EXAMINATION: APRIL 2019
ECS 218: Microeconomics- II
Time: 2.5 Hours                                                               Maximum Marks-70
This question paper has 2 printed pages and 3 parts

Part A. Answer any TEN of the following:                                       3 X 10=30

1. A perfectly competitive firm has total cost function C = 450+15q+2q2. If the market price is Rs. 115 per unit, find the level of output produced by the firm and the profit.
2. What is meant by product differentiation?

3. Discuss the significance of shut-down and break-even point for a competitive firm.
4. State the Walrasian and Marshallian stability conditions.

5. Discuss with examples the difference between second-degree and third-degree price discrimination for a monopoly firm.
6. Distinguish between pure oligopoly and differentiated oligopoly with example.

7. Define Nash equilibrium.

8. State Kaldor Hicks compensation criterion.

9. Distinguish between Bentham’s criterion and Cardinalists’ criterion.
10. What is meant by Pareto improvement?

11. Define production possibility curve.

12. State the first and second fundamental theorem of welfare economics.

Part B. Answer any TWO of the following:                                         5 X 2 = 10

13. Using diagram, examine the efficiency of monopoly market.
14. Explain the concept of excess capacity in the context of Chamberlin’s model of monopolistic competition.
15. Explain different sources of market failure and imperfections.
Part C. Answer any TWO of the following:                                        15 X 2 = 30

16. a. Conceptualize the reaction function in the context of Cournot duopoly model.                                                                                                
      b. Assume that in a duopoly market, the demand and cost functions of the duopolists (Firm A and B) are: P = 100 – 0.5(q1 + q2), C1 = 5q1, C2 = 0.5q22.
· If firm A is acting as a leader and firm B as a follower, what would be profit maximising quantities for both the firms and also what is the amount of profit for both the firms in this situation?
· Now, if firm B is acting as a leader and firm A as a follower, what would be profit maximising quantities for both the firms and also what is the amount of profit for both the firms in this situation? 
· Finally, compare the profit maximising quantities and also the amount of profit in the above two scenarios.                                                                                         
                                                                                         (5+4+4+2) = 15

17. a. State Arrow’s impossibility theorem.                                                            

b.Describe three conditions that must be satisfied in order to attain a Pareto-efficient situation in the economy.                                                                   
                                                                                          (3+12) = 15
      18. a. State the product exhaustion theorem.                                                          
b.Explain how factor prices are determined when a single seller faces a single buyer.                                                                                                                
                                                                                           (3+12) = 15
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